## **BID FORM**

(FAILURE TO COMPLETE THIS FORM MAY RESULT IN THE BID BEING DECLARED NON-RESPONSIVE)

Data: 11/12/15

]	PROJECT: Wellfield Rehabilitation and Maintenance Date: 11/12/15
]	BIDDER: Florida Design Drilling Corp.
,	THIS BID IS SUBMITTED TO:
]	Wellington Clerk's Office 12300 Forest Hill Boulevard Wellington, FL 33414
1	<ol> <li>The undersigned BIDDER proposes and agrees, if this Bid is accepted, to enter into an Agreement with OWNER in the form included in the Contract Documents to perform and furnish all Work as specified or indicated in the Contract Documents for the Contract Price and within the Contract Time indicated in this Bid and in accordance with the other terms and conditions of the Contract Documents.</li> </ol>
2	2. BIDDER accepts all of the terms and conditions of the Advertisement or Invitation to Bid and Instructions to Bidders, including without limitation those dealing with the disposition of Bid security. This Bid will remain subject to acceptance for 120 days after the posting of the recommended award. BIDDER will sign and submit the Agreement and other documents required by the Bidding Requirements within 15 days after the date of OWNER'S Notice of Award.
3	3. In submitting this Bid, BIDDER represents, as more fully set forth in the Agreement, that:
	(a) BIDDER has examined copies of all the Bidding Documents and of the following Addenda (receipt of all which is hereby acknowledged):
	Date 10/10/15 Addenda Number Addenda Number Date Addenda Number Addenda Number Date Addenda Number Addenda Number Addenda Number Date Addenda Number Addenda Number Date Date Date Date Date Date Date Date
	(b) BIDDER has familiarized itself with the nature and extent of the Contract Documents, Work, Site, locality, and all local conditions, Laws, and Regulations that in any manner may affect cost, progress, performance, or furnishing of the Work.
	(c) BIDDER has studied carefully all reports and drawings of subsurface conditions and drawings of physical conditions which, if any, are attached to the Contract Documents, as provided in Paragraph 4.02 of the General Conditions, and accepts the determination as set forth in the Bidding Documents of the extent of the technical data contained in such reports and drawings

(d) BIDDER has obtained and carefully studied (or assumes responsibility for obtaining and carefully studying) all such examinations, investigations, explorations, tests and studies (in addition to or to supplement those referred to in (c) above) which pertain to the subsurface or physical conditions at the site or otherwise may affect the cost, progress, performance or furnishing of the Work as BIDDER considers necessary for the performance or furnishing of the Work at the Contract Price, within the Contract Time and in accordance with the other terms and conditions of the Contract Documents, including specifically the provisions of Paragraph 4.02 of the General Conditions; and no additional examinations, investigations, explorations, tests,

reports or similar information or data are or will be required by BIDDER for such purposes.

(e) BIDDER has reviewed and checked all information and data shown or indicated on the Contract Documents with respect to existing Underground Facilities at or contiguous to the site and assumes responsibility for the accurate location of said Underground Facilities. No additional examinations, investigations, explorations, tests, reports or similar information or data in respect of said Underground Facilities are or will be required by BIDDER in order to perform and furnish the Work at the Contract price, within the Contract Time and in accordance with the other terms and conditions of the Contract Documents, including specifically the provisions of Paragraph 4.04 of the General Conditions.

upon which BIDDER is entitled to rely.

- (f) BIDDER has correlated the results of all such observations, examinations, investigations, explorations, tests, reports, and studies with the terms and conditions of the Contract Documents.
- (g) BIDDER has given OWNER written notice of all conflicts, errors or discrepancies that it has discovered in the Contract Documents and the written resolution thereof by ENGINEER is acceptable to BIDDER.
- (h) This Bid is genuine and not made in the interest of or on behalf of any undisclosed person, firm, or corporation and is not submitted in conformity with any agreement or rules of any group, association, organization or corporation; BIDDER has not directly or indirectly induced or solicited any other Bidder to submit a false or sham Bid; BIDDER has not solicited or induced any person, firm or corporation to refrain from bidding; and BIDDER has not sought by collusion to obtain for itself any advantage over any other Bidder or over OWNER.
- 4. BIDDER agrees to perform all the Work described in Contract Documents, subject to adjustments as provided therein, for the Prices BIDDER provides on the Schedule of Values.
- 5. BIDDER declares it understands that the unit quantities shown on the Bid Form Unit Price Schedule are approximate only and not guaranteed and are subject to either increase or decrease; and that should the quantities of any of the items of Work be increased, the BIDDER agrees to do the additional Work at the unit prices set out herein, and should the quantities be decreased, BIDDER also understands that final payment shall be made on actual quantities completed at the unit prices, and shall make no claims for anticipated profits for any decrease in the quantities.
- 6. The BIDDER further declares its understands the OWNER may elect to construct only a portion of the Work covered by these Documents and BIDDER agrees to perform that portion of the Work for which BIDDER is awarded a Contract at the unit prices quoted herein.
- 7. BIDDER agrees that the Work:

Wellfield Rehabilitation and Maintenance work will be shall be completed within the timeframe specified under Section 01010-Summary of Work (Exhibit "A" - CDO Contract Time Guidelines).

BIDDER accepts the provisions of the Agreement as to liquidated damages in the event of failure to complete the Work on time.

- 8. The following documents are attached to and made a condition of this Bid:
  - (a) Schedule of Values.
  - (b) List other documents as pertinent.
- 9. Communications concerning this Bid shall be telephoned or addressed to:

 Name:

 Address:
 7733 Hooper Road

 West Palm Beach, FL 33411

 Phone No.:
 561-844-2966

 Fax:
 561-844-2967

- 10. The terms used in this Bid which are defined in the General Conditions of the Construction Contract included as part of the Contract Documents have the meanings assigned to them in the General Conditions.
- 11. BIDDER'S Florida Contractor's License No. WWC11148
- 12. BIDDER covenants that it is qualified to do business in the State of Florida and has attached evidence of BIDDER'S qualification to do business in the State of Florida, or if not attached, BIDDER covenants to obtain such evidence within five days of request by OWNER to provide evidence.

If BIDDER is

An Individual

Page | 20

Name	(SEAL)
Signature:	
Doing business as	×
Business Address:	
Phone Number:	Fax Number
A Partnership	
Firm's Name	(SEAL)
General Partner Signature:	
Business Address:	
Phone Number:	Fax Number
A Corporation	
Corporation's Name Florida Design Drillin	g Corp. (SEAL)
State of Incorporation Florida	
Authorized Person: Jeffrey Holst	
Title: Vice President	
Signature: All Ha	
Attest: Noah Ringdal	(Secretary)
$X \longrightarrow X \longrightarrow$	•
Business Address: 7733 Hooper Road	
West Palm Beach, FL 3	3411
Phone Number: 561-844-2966	Fax Number 561-844-2967

SCHEDULE OF VALUES (FAILURE TO COMPLETE THIS FORM MAY RESULT IN THE BID BEING DECLARED NON-RESPONSIVE)

ITEM	TASK DESCRIPTION	EST. QTY.	UNIT	UNIT PRICE	TOTAL PRICE
1	Traffic Control	1	Ea.	1000	1000
2	Biological Activity Reaction Test (BART'S)	24	Ea.	100	2400
3	Specific Capacity Test before or after rehabilitation	24	Ea.	500	12000
4	Wire to Water pump efficiency test	12	Ea.	500	6000
5	Step Drawdown Test	12	Ea.	1000	12000
6	Extra Sand Testing not during well development or pump testing	2	Ea.	500	1000
7	Silt density index test (passing only, SDI Test less than 3)	3	Ea.	500	1500
8	Remove & Reinstall Fencing to original condition	2	Ea.	500	1000
9	Remove Surficial Wellhead, column pip, and well pump with motor and accessories	24	Ea.	2500	60000
10	Reinstall Surficial Wellhead column pip, and well pump with motor and accessories	24	Ea.	2500	60000
11	360 Degree Color Video with triplicate DVDs including contractor pump	12	Ea.	2500	30,000
12	Pump Motor Retrieval	2	Ea.	5000	1000 000 0000
13	Chemical Treatment - Acid Descaler 55 gal.	12	Ea.	10000	120000
13A	Additional Chemical Treatment - Acid Descaler 55 gal.	6	Ea.	10000	60000
14	Chemical Treatment - Chlorine	12	Ea.	1500	18000
15	Acidize Well - 1,000 gal. 15% HCL	6	Ea.	25000	150000
16	CO2 Injection - (3-4 tons)	2	Ea.	25000	50 000
17	Clean Casing & Screen	12	Ea.	2500	30 000
18	Brushing, Swabbing & Jetting - Well Development	12	Ea.	2500	30,000
19	Drill Rig w/ Crew	96	Hour	500	48000
20	Two Man Crew w/ Crane	432	Hour	400	172800
21	Each Additional Crew Member	40	Hour	50	2000
22	Parts Supplies by Contractor without Contractor's markup	1	Lump	\$10,000.00	\$10,000.00
22A	Contractor's markup on parts under bid item 22	10,000		15%	1500
23	Well Abandonment	1	Ea.	5 000	5000
24	Neat Cement for Well Abandonment	16	CY	500	8000
25	Mud Well, Remove Exist. Inner Casing/Screen, Riser & Gravel Pack	2	Ea.	40,000	80000
26	Furnish 12" Diameter 316L SS Well Screen - 30 to 100 Slot	40	Ft.	250	10000

ITEM	TASK DESCRIPTION	EST. QTY.	UNIT	UNIT PRICE	TOTAL PRICE
27	Furnish 12" Dia. Certalok Riser	200	Ft.	150	30000
28	Install Well Screen & Riser	2	Ea.	5000	10000
29	Furnish & Install Gravel Pack	280	CF	25	7000
30	Well Development Pump - 2,000 to 3,000 gpm	144	Hour	250	36000
31	Well Development & Redevelopment - Airlift 600 to 750 CFM	144	Hour	250	36000
32	Disposal of Development Water	12	Ea.	2500	30 000
33	Disposal of Development Solids	12	Ea.	2500	30000
34	Furnish & Install 1" PVC Stilling Well - 60' to 80'	2	Ea.	2500	5000
35	Furnish & Install 2 new SS Safety Cables - 60' to 80'	2	Ea.	600	1200
36	On Site Welding	40	Hour	125	5000
37	Machine Shop Welding	40	Hour	/00	4000
38	Disassembly & Inspection of Pump	2	Ea.	1500	3000
39	Pump Maintenance	40	Hour	100	4000
40	Trim Impeller	2	ea.	500	1000
41	Motor Maintenance	40	Hour	100	4000
42	Disinfect Well - Health Dept. Clearance	24	Ea.	2000	48000
43	BACT Health Dept. Clearance	48	Ea.	150	7200
	TOTAL				1253600

BIDDER/CONTRACTOR understands and agrees that this is Unit Price Contract and that contractor will be paid based upon items and quantities actually performed and accepted by Owner. The Schedule of Values is provided for the purpose of Bid Evaluation and when initiated by Wellington, the pricing of change orders. Contractor's price will not be adjusted to reflect any deviation from the Schedule of Values, except to the extent that Wellington changes the scope of Project after the Contract Date.

Quantities listed on the Schedule of Values are estimates only and are not to be construed as guaranteed work quantities. Bids will be evaluated based upon the total contract price. Balance of pricing shall be considered by OWNER in determining lowest, responsive, responsible bidder. CONTRACTORS/BIDDERS shall submit balanced bids.